Multiply and Divide by Negative Powers of Ten (E)

Find each product or quotient.

72x0.1= 4x01=
78 X 0.01 = 72 x 0.001 =
33x0.01= 20 x 0.001 =
62 %X 0.1= 42 +0.001 =
44 - 0.1 = 93 +0.01=
11 X 0.01 = 18 +-0.1=
10 = 0.001 = 42 +0.001 =
32 x0.01= 35+0.01=
96 x 0.01 = 25 +0.001 =
4 x0.01 = 80x0.1=
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1ltiply and Divide by Negative Powers of Ten (E) Answe

Find each product or quotient.

72x01=7.2 4x01=04

78 X 0.01=10.78 72 x 0.001 =0.072
33 x0.01=0.33 20 x0.001=0.02
62X 0.1=6.2 42 - 0.001 =42,000
44 - 0.1 =440 93 +-0.01=9,300
11 x0.01 =0.11 18 +0.1 =180

10 +0.001=10,000 42 <+ 0.001 =42,000
32x0.01=0.32 35+0.01=3,500
96 X 0.01 =0.96 25 -+0.001 = 25,000
4 x0.01 =0.04 80x0.1=8
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